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“Grading for Integrated Algebra and Geometry

Homework

Oral Presentation

Qll',lizzes

Problems of the ‘week (POW)
Tests

Portfolio



Materials needed for Integrated Algebra and Géomefry
1)Binder ~ | - {5 1, P,
2) Pencils
3) Lined Paper
4)Ys Inch Graph Péper
5) 12-inch Ruler with both Inch and Centimeter Scales
6) Colored Pencils
7) Protractor
8) Calculator (TI-83 PLUS)
Students do not need to bring their calculators to class,
since graphing calculators will be provided. But they

should have calculators available every night for use in
the homework.
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Michael Plasmeier
9/12/2004
PD.:

POW Beginnings
HW#4 Y

1. 1. Problem Statement: The problem in this POW is that there are eggs, that only fit in
groups [boxes] of 7. When places in groups of 2, 3, 4, 5, 6, there is 1 egg left over. You

need to find out how many eggs there are.

2. The answer is not correct, because 49 divided by 4 gives you a remainder of 4, not 1.

Test 2 3 4 5 6 7
121 9r4 8r1 7

49 48 r1 16 r1
Trial of D 40
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Name' ' (¢

Date
Perform the order of operations to solve each of the following.

1) (8+3) 23 =

2) 54 - 2 ¢ 33 + 43 =

3) 15 -9 £ 3 + 6+ 2=

4) 12 + 12 + 12 =

5) 4«9 -6+ 3+1=



6) 14+ [12+(3 + 8+ 3)]=

7) 92 + 23 5 =

Insert the fewest sets of parentheses that will make each of the
following true.

g8) 4¢9-6+2+4=10

9) 6 + 34 +3+232-7 =48

10) 10 - 4 + 3 * 4 + 5 °» 2= 46
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ImpL

a) Complete the In-Out table

VA

U Out=d-In -7
In t

PR
6 | =5 =
4 N /l

23‘/5 If \ ,, ),* T

.3 —

L{ 9
SR

a) Complete the In-Out tabte

Out'= 4In _&_ ‘
In Out ¢

o | £

20

112

X [
3 |
B

—

a) Complete the In-Out table
Out = 2:In+1
In Out
i [
-3

A ‘-‘ 7]

21/

____
-
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,

</
. X a7

'.'7;51’;“ no*

a) Complete the In- Out table
Out=In4 -, -

In Out

2 —_— ’.:
-5 {
3144 ";} ' 2 <
T /
57| L/
3 | .12
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%L

5 a) Complete the In Out table
Om = 1?% f % i'l,] fF ot

“In | ‘Out »
2 ~1y ft

-y " ";J ~
F )
3|27 2

a) Complete the In-Out table
Out = 2.|n -
In O§3

2

- F

23 | {4 1
A ki 7.3
\ ¢ 0
46 | A/

Date:

_—

a) Complete__,the In-Out table
- Out=2/5.In + 1
In Out of

She | 1y % %
a) Complete the In-Out tabtet' ¢

Out=5.n + 1 2
In Out s
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fMame ! Patterns Unit
tate 9 In/Out iables #2
Complete the In-Out tables.
5 2
1) Qut=3¢In+7 2) Out=1In~-4 3) Out=§-ln-1
IN ouT IN ouT IN
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0.6 | OiX 2 0 o el
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State the rule for each In-Out table.

9) RULE:
IN ouT
6 17
4 11
11 32
9 26
1 2\
as | SR
_Ia 47
12) RULE: «
< ~ \ o
IN ouT
3 -9
5 15
2
3= 11
3
e &)
15 45

10) Rule:

In Out
CHP DIQ
IMT JNU
WED XFE
BUN CVO
HOG IPH |
YET | ZES

FLY

11) Rule:
- ’Al/"/"
In Out
11 484
2 16
5 100
8 256
9 324
10 A0
| AN | 144
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( "‘\_/’ \J d

O






S s ) e — :
2 T}‘C Cum o4 .{.W‘U‘ From w1 foé

X

b
C )
i e [ Lo PN \7 /r’ ~ )
i . 2x1!£*(§‘j} rﬁ [+ et/

i Z % 0w 1 3

= Y ¢ Q ¢ g v 25

R T e T—

Yrdv + 747 A

A Z

\\J_klou :

X
=
G

Bc+L,:

Sedlma o
(%
=0

S







@(d% :(C\

he O} Ts emes HoTn misoc ¥

> Y13 €172+%+9 (42

2 )2 41216 12 H L2 0495 019270

37 ) [6}?»‘2J'f'2f’?(r2,‘-(412!¢{,r¢

I p1X 722038 + 81766

@D







. Cu)Of\s @3?
" e Lt oy, @D 4/ 5
[ 6 I e [ [
L 18-~ =
¢ /2*6) ¢
d [~(¢<IK-73
e |- [ax- c) tY
1 A"@$ Y et (bt ond dole 2oy (-/ cold cvhe i
LJ_ ﬁu'ﬁl G cold Cl/laog dnd t co [ o Jbeg > *[v)o
e C T“#‘f Aoy M éahr[/l@ i cold r(/bfﬂ =5
| d (A g g tedfs of ¥ cll (1/1905 =3
| .l, "ﬂ—’f—/\_x_,/_“._m_.

Pfc]é (a (Q/r] CUes gl ! o d’ch@f ?"’S,

Ddc’ L[ Co{J C({b({.% ﬂn@ w[(/p dway Iﬂ& ((/bé{r-’ ‘/Oy

TGL? AM}' 3 Qlevgs @{ /(o(cl /(;Leb 5o

Hdr‘ 760(1( ru\oes ad 7’a£‘f’ Gladdye (d cold Cbbﬁf 5

A ? l""} (rb“ ond  Add 7 Cﬁ,} thoo -~C

Md 3 hot Cikae O{vwl ﬁ% Iay G 1 CM C(/b@j :

Bl € buaches ol 2 cold pybec’= =[0°

Tale P(,rm. b Bnchi of 0 bk nibes S '~5'Li9

Al 12 nu/rl Cotbase_and S hod gibec =7




Sigma Notation Worksheet IMP1 .. /
A Date : ) r’

W, *
. Name :

[
: ’ (
;frf-!—’—;_ iflrlte out each of these summation problems as a string of numbers added together and find the sum.

5 5

N3 = 2 36-=
X= ' k=1

) 3Cv-1) = n 3=
v=0 r=0
S Ok ;!

| K k=20 - 2 Azo B+l
C

7 2 6

7) 22(5t) = 8) 22(x+2 )(x—-3 )=

Use the summation notation to write the given sums.

5 5 9 5 )
+ + +... + =
1+1 142 | 1+3 1+15

10) 4(1)4 (244 (3)+... +4(9)=
“__ 11) [+3+5+7+9=
12) 24+2+4+2 +2+ 2=

9)
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Sigma Notation ]

Write out each of these summations problems as a string of numbers added together and find the
given sum.

3 5
L Sens s Se-
il -

1l
(=]

/\{\: i(3iil)=ﬁj‘“\_” : s e Y=

3 9 = 7 e
’ ;; gc‘;kz +1
&, 4 21 5 fﬁt
4. Y06mt= Y, B N(k+Dkx3)= T
n=2 ' =2
/0 by
A 5 1N 5 :
Use the summation notation to write the given sums.

N '
'i‘+—é—+—§—+---+ > - 11, 14+43+5+7+9= N
1+1 1+2 1+3 1+15 , \

10.  4(1)+4(2)+4(3)+...+4(9) = 12. 2424242=

Patterns 8
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Sigma Notation 2

Write out each of these summations problems as a string of numbers added together and find the
given sum.

4 6
) = - 5, Sk=
1 ;(31) ;
3 4.
2. Y (5i+2)= 6. di*=

™
=}
i

w
4=
W
I
~J
D
%
+
W
I

=~
I
—

5

i Y= | 4 3 (k+2)(k+1) =

)

=
Il
(3]
o~

(s

.

{ ) .
| /3 ¢ {4
\(
\/

wa 0 f o o "
L[ & o

Use the summation notation to write the given sums.

9. —3—+—£—+-—2~+...+ G = 11. 2+4+6+8+10=
34+1 34+2 343 3415
10. . 5(3) +5(4) +5(5)+-++5(9) = 12, Dl Tel=

Patterns 9
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Perform the following operations.

—

10.

1l
i

13

15.

4-3+1
|+

24+293

f=3.=4
-]

14-8+3-1
)]

(5 —2) 3

o K

2
9 - (4-2)
N
¢ - 2 *5-3
- )6 -3
.

244+ 3

18;f
|<--,I

282 AT a
ﬂ /f? il

13 +9
01—06 6 3))

15 - 9+5 3+1
:'-‘ “ -{.‘
72 + 9 4 2
§
4? 5 3+1
2r2
- J'?

O, /

‘-/
[\J

(12 %
1/

(/
n7.

Patterns 13

10.

11,

12.

13.

14.

15.



Perform the following operations.

1, 8341
51 |
2 2&+7°2
3 8-6+2
13
4 1858+3—]
.‘I-j,"!/
5 5+233
P H
ﬂ’ [)
6 -(5- 2)
‘J,.f;.ao
.(}‘/;‘
f 18—0 =543
18-10+;
R 4+
8. 9e8+2
A
9 3P(573)2
3]
(C;i‘-“r’f 9 2
10. 36:4 +3 +3
hyg‘ ,-= </
ARE
H.(%—Q§—64$D
12. 25-99;#5’,—3+1
3 4
13. 128}/8 2
Fﬂ"‘:
{4, Be9-5-3+1
775311
67,3533

,
2

ih. (1 -3 7—4 +2

5-1)7 169

Patterns 15

W

10.

il

12.

53,

14.

10,
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Perform the indicated operation(s). Simplify the answer.

=

10.
kel
12,
13.
14.
10
16.
1%,
18.
19:
20.

O ©o0 1 O Lh

i,
2.
23.
24.
25.
26.
e
28.
29.
30.
3.
32.
33,
34,
35.
36.
37.
38.
39.
40.

Patterns 12

ET 2 (3)_
-2+3+4 D
4£(H+(2)-1=
6 — 7 7-4=
(3):(2>—
2(3)(2)(2) 2%
-3+<¥é) Fe3)=
245+(3)(2)=

6+ (D+($ (4)=(

_2.(3)
-7;%4) (-9) ="
-247(-._4%(-2)—
*9t,§_—77?6=‘d'5
3e 4(2)—
2+(3)+2+(3)—
4 (3)‘+5+(7)—

30(-2)+5%(3) =

- sk ;
P J/
Pl

>

JIJ o &

9()
o v



5 Perform the indicated operation(s).

—t

- am A AN au 4 Jam 1"“il*ll Ja A
i i i i i k I i

7

$ I

LT T T S I

10.

-13+5:-\2
it loeet

7-8= ~[5
4+¢3N=~/
9t qa)=(3

16+ 1=/
B =re]
s5-7=~I)

Syl

3e5= *JS
6(9)=—4§

Te8= - 1))
AirEBl=
16+ (-4)= — [
21+ (-6)= . |
el Sl \{L;

5+15=“§

e (_5) = [()
e (_4) =

.

Simplify the answer.

10.
1
12
13:
14.
15,
16.
17.
18.

Perform the indicated operation(s). Simplify the answer.
Ll
12
13,
14.

19

16.

1.
18.

Parterns 10

3+04)= |
867 = |,
b+(3)=-1
44¢n= -
81(¢2)= |

7y
S5+2 =5=-§

-4+b%f§= -3

D wily=)

b -y

6/(-3)=)

32)
=

sfoz)zxg

45 ¢
5=

_(—]25 T /
| -3/ !

4/(8)= ¢
—]2+8;_; ¢

/
[
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Patterns

0000000

!.Uli'.‘Iﬁ'i-iii.jilll'llt}ii“"‘*.“.“.ii'

Classwork

Deon and Marsha thought of an
interesting way to announce their
long-awaited wedding.

They decided to send the invitations

out in code. In the code they :

vy, decided on, each letter is

represented by an angle of a certairlz .

J

and other students can exchange and decipher each other’s messages.

. f ,
* @ What does this message say? }’) ( 065 ¢ ( QM o
* o \ 4 [ £ )}
ot 2. Make up a message of your own that is between 10 and 20 letters long. You o
.

L

~z=ractive Mathematics Program 49
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RATTERNS DAY 17 ) /

Find the measure of each of the following angles.

7
Measures: Vi
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Degree Discovery

PATTERNS DAY 18

Use your protractor to Measure each angle
and Write those measures in their appropriate angles.
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In each figure,without measuring the angles, calculate the degree measure of each labeled
angle. Assume that each figure is regular; that is, that all sides of the figure are the same length

and all the angles of the fi
the center to each vertex.

1. Triangle

[\

2. Quadrilateral

B

3. Pentagon

4. Hexagon

gure have the same measure. In some figures segments are drawn from

5. Octagon

ANSWERS G
mZA = / I

msB = } -‘ : '
m«C=]7 9 .

mAD.=| 0

mZE = )?(j

msF= () ,
' 6. Nonagon
m£G =|7¢
mzZH = (;f';\_”
msd = |7
m/_/K =: | :J ()
msL= %
[y
msM =115 7. Decagon

Patterns 16
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b /)\\ f | _
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Vel g xis TH = — 2 S y
-/ Use the information you found about each figure to fill in the following table. * P } c

{ /
!h

i 7/

¥ B B W e
9 Measure of one | Sum of measures of : s )
| N

}"3/_" Name of polygon interior angle all interior angles RO o

s Triangle 40 BRIAS =
\ Quadrilateral A 360) | r"\x ~
Pentagon [ ()? ‘ 5y | R
Hexagon g —20 20 -
.l R MR RN
A Decagon vy 7) | Ui = :*(\ 1< R
[ & l""‘ﬁ’i'k’ﬂf n-gon /rlidlﬁ/f‘ ‘ 20(’7'7 ;l ".' erdiy ,' {
o0 .! : . dodecagon (12 sides) 150 \Jdo } 3, = ) (\
ale _20-gon 16) ey A
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M 9
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b il /& v S |
~aT L nay { )
{ 7 -
! D teinn ;,L"
- A ~ -
N\ /
¢

& /\,(‘
~
a4 ( | O
AY, I

J) .’7! 1

i B # '//I / yJ S Ps%ems J7

~ \ l‘ '\‘ & LR ¥ ;:‘ i i
. P Fog / p ‘/ o ",\_j 4 p £
g\t 8 T HO S 7 X {3
Lo W &— 2 ML el D v g |
Not /%0 2 T 1 e
AR\ - 7 (/I,_,,[,,,-, _Jl;lb









gf22

Voer Yoo

\s

. r L 4 : i At S
& (2L LPQQL&;»? “-mm"_'afl e da
CQ(«V(o"(//y JP rngf . 7}@9 }t.,,g‘g‘ s Cand

B — g

&5

/L=
L/

:th

J5
o "’ —————— §
") (":6 5

mdf!

wh |w d-
iy

\3_old

/
!

i /ﬁyf‘m} ‘é_ N
—




L
i 0 J,

\\fﬂwf{s
wp\ % VB!

AR Wi i

0 e Tafician

L R T e s

el <L} )’l%f_b’m' .é'c%“f(l Tho { nSwPT m

L{}? ’ (:5%‘ gaa gud Qobz‘rqsfs 7
e RN
20 Y Hort s o Siaplifel
&R /

79 Fo xtl§ «3-9/3 -%¥

("{3 D:;;Uﬂr‘} 'J

. xt 16 (<31 -&
[ o .

: Mt 16~ 3 ‘
A i l§ - i
vag el x1Y
'(_E‘{;l _':é/



w
| (MR WewpB T
@ Yl Pl g o 'szﬁf
AEIRY 53 vii ARV,
Ve L G L Fils }3
'3/}/'); = A R
)
A7
.
2‘ %—rﬁvrpa-ﬁ.! -g'\;: 62,§;?/; i[vr‘J' izf:: /fl\
L4
APASY W SEPIIRR AT
SRV INT /7))
2691 " hg Y/
AR AT S
2 T uopge gD NEE
9 S T NN T,
o 13 < )03
N 2 18 T Yo
L e 0 gars)
/] )
)5
X, /3" 2 /O* lJf"‘otCSn *5’?7 Shwﬂng H’?
‘ Folaliip 1q fe 0 Qg Lf"m?
‘}______‘Q _Q_'A-v__ZEfQ—,ﬂ/
e o w10
3
20)




LSL 25 o waddns 2252, Y 208 ”
«\?Eé'ﬁ, T 7507 55 0% 5

T 57 Bl

.

S

H L Lo ‘ .
HUW >0 QU W’(/w”” j/f(’ VoS (1E3¢7 (e ]
/?) N E ’ (2 Mf/,. ,../. ]f[ / /

1o AL
VG pM/' o otwodT Vo ey 70,

L

/4\ e e 4
$00 0 O A mes vedd J foend
i ?7[7‘\:" S

PHLE

246 & Aoy 7) LZwad

g
S.Zj’*\ fal ul"\
7 1 ol Jjwn

¢ %"L‘-q'_i gl of 7426 Ao domd

Vit D A ’Ai',—.:-;‘ ay. ViV
e Y] e A n‘ o &/ /

£ 2., 7 '_ 7} - :
il 7’/‘/)7.// ﬁ af ‘220 & s Wi i A4




v ‘.'
y [

LI Woemp B

lll‘/ Gf/cu\ﬁ%@{ )0/23

!
|

L

2 B4

I
1 ,,_,,,/; e o0 \_{)
g

4

i\
U_U

: 20 =
5. i T |/,

L
el :‘- Q Sﬂ!g” } J g¢ \__j.LIS o b
YL ;
R T —

| e | T kg
[ 343 3 q]

( (7‘ \ R e —

e

7M_\"W¢’m/ [ ctatrbe]

= S a———
MG SRR
. 5 = T

s tenne (- g G- ?J/ 1 fdmm/__?u____u_____
N TN VTG e I
B, fo.qi e ek | (b
C BRI .




~,

A et

G)ﬁ 5(‘0 (e gas f&avf L'V"\ph \IQQ NU/{( rv 2 Wt//‘/;‘l/f’f
o O B B -Ho drouet is 510
) rm/Hgnga of U
717 A
o :
[ =So y[]iph
B, | Qlwes (e borg® oy Mf 6 ceclaln H

of JOps Y Whely gtdl malre o~ A_L{"Qj_ige./f__

N










